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1 (fgArea = NA)
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [["I", "lopt’], ['T, ’Top;t’], ['RH", "RHopt’'], ['ETcl’, 'optETcl’], 'LAl’, 'optEtRate’]
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Plot [[ setVI _ETcl’

"setVI _fgRec’,

"setVI_VN',

"s1SetVI' 1]
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Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r—o',

"PHO:g—o’ ]]
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Trend plot forP3-13 0
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P3-13

BYiE) | GEBRTIK () | EBRE (EA/) | EREE(B/R) | XS R

07:20 300 150.0 2. 888 B5| FnHA@O07:20 KREFEF (REEEEE)
07:55 300 150.0 2.888 BE| FHRe07:55 KENFEF (RAERESE)
08:50 300 150.0 2. 888 FH| 7HA@08:50 KRENFZF (KRATRELES)
09:40 300 150.0 2. 888 FA| FHA@09:40 AHIEF (KAEZHSF)
10:20 300 150.0 2. 888 FA| HA@10:20 KENFEF (KRR
10:55 300 150.0 2. 888 FA| FnHAe@10:55 K4E1F2F (RFEERES)
11:30 300 150.0 2. 888 FH| FhHA@11:30 KREFEF (RATREES)
12:05 300 150.0 2. 888 FA| FiHA@12:05 KRHEF (RKRAEZHS)
12:35 300 150.0 2. 888 FA| FnHRe12:35 k4H1F2F (KRFEEREE)
13:10 300 150.0 2.888 FB| FiHR@13:10 KREFEF (KAFZHE)
13:45 300 150.0 2.888 FA| TiHR@13:45 KRHEF (KAKZRSD)
14:20 300 150.0 2.888 FA| ThHA@14:20 KEIEF (KRATREES)
14:55 300 150.0 2.888 FB| FiHA@14:55 KREIZF (KAFHE)
15:35 300 150.0 2.888 FA| TiHR@15:35 RHIEF (KAEZRS)
16:20 300 150.0 2. 888 FH| FnHRe16:20 K412 (REEREE)
17:15 300 150.0 2.888 FB| FiHR@17:15 KREIEF (KAFZHE)
23t 4800.0 (167%) 2400. 0 32933 %EC: 2080.0, PH: 5.8

[@&EC 5983.0 K&, EiNFAKECAE&idEE R
HEEKECE (1773.0 vs 5983.0) 5




FRV (ml plant-1)

ET (ml/hr/plant)

P3-13_0, Day=66 (2025-06-05)
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P3-13

BYiE) | GEBRTIK () | EBRE (EA/) | EREE(B/R) | XS R

07:10 288 150.0 2. 888 B {Ri&e07:10 Bz (REERSE)
07:45 288 150.0 2.888 BE| {Ri&e07:45 B (REAEHE)
08:20 288 150.0 2. 888 BE| 1Ri%e08:20 B (KRF{EREE)
08:55 288 150.0 2.888 BE| {Ri&e08:55 B (REAEEE)
09:30 288 150.0 2.888 RS {Ri%@09:30 B (REAEHE)
10:05 288 150.0 2. 888 BE| 1Ri%e10:05 Bz (RF{EREE)
10:40 288 150.0 2.888 el Rige10:40 Bal (REAEESE)
11:15 288 150.0 2.888 el Rige11:15 Bz (REAERSE)
11:50 288 150.0 2. 888 BE| BRi%e11:50 Bz (GREAERESE)
12:35 288 150.0 2. 888 el Rige12:35 Bal (REAEESE)
13:15 288 150.0 2.888 | Ri%e13:15 Bz (REAERESE)
13:55 288 150.0 2.888 BS| 1Ri%e13:55 Bz (GREMEESE)
14:35 288 150.0 2.888 s {Rige14:35 Bal (REEESE)
15:15 288 150.0 2.888 el Rige15:15 Ba) (REAEHSE)
15:55 288 150.0 2.888 BS| 1Ri%e15:55 B CGGREEESE)
16:40 288 150.0 2. 888 BE| 1Ri%e16:40 Bz (RF{EREE)
21t] 4608.0 (167%) 2400.0 3233 %EC: 2080.0, PH: 5.6

TERRHER 2 STEIELRT (187.0 :

ZRIAEBRIERE141.0 ml.

[B&EC 5750.0 K&, EiXF{KECAE&HikER
H#EIHECE (1780.0 vs 5750.0) 5

141.0), AlEEHT—R L XA HS




P3-13_0, Day=65 (2025-06—04)
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37.4 4

37.2 -

37.0 -

36. 8

36. 6

36. 4

36. 2

—0—

625
m=745,n FV0=0

37.8 -

37.6 A

37. 4 -

37. 2 -

37.0 A

36. 8

745

755
m=885,n FV0=0

38. 2 A

38.0 A

37.8 -

37.6 A

37. 4 -

37. 2 -

——

885

895

m=500, FVO0=0
—e— ME
35.5
35.0
34.5
34.0
T T T
500 505 510
m=650,m FV0=0
347 o e v—o\.)\.
37.2
37.0
36.8
36.6
36. 4
o
T T T
650 655 660
m=780,m FV0=0
BT o g
37.8
37.6
37.4
37.2
37.0
36.8
780 785 790
m=920,m FV0=0
—e— ME
38. 25 -
38.00 -
37.75 -
37. 50 -
37. 25 -

920 925 930

36.

36.

36.

36.

35.

35.

35.

37.

37.

37.

36.

36.

36.

38.

37.

37.

37.

37.

37.

38.

38.

38.

37.

37.

37.

m=535, FV0=0

75 1

50

25 H

00 -

75 -

50

25 A

——

T
545

m=685,m FV0=0

50

25 -

00 A

75 A

50 -

25 -

T
695

m=820,m FV0=0

—o—

820

830

m=959,m FV0=0

—O—

955

965




38.

38.

38.

38.

37.

52.

52.

51.

51.

50.

50.

53.

53.

52.

52.

54.

54.

53.

53.

52.

m=990, FV0=0 m=1035, FVO0=0
6 1 - ME —— ME
38. 6 -
4 -
38. 4 -
2 -
38.2 -
01 38.0 -
8 37.8 1
T T T T T T
990 995 1000 1035 1040 1045
m=500,m FV0=0 m=535,m FV0=0
: | —— | —o— MW
U 52.5 -
5 -
52.0 -
0 -
51.5 -
5 -
0- 51.0 -
T T T T T T
500 505 510 535 540 545
m=650,m FV0=0 m=685,m FV0=0
51 —e— mw —o— MW
54.0 -
01 53.5 -
5 4 53.0 -
0 52.5 -
, T T 52 0 T T T
650 655 660 685 690 695
m=780,m FV0=0 m=820,m FV0=0
5 54.5
—o— MW —— MW
0 - 54.0 -
5 - 53. 5 -
01 53.0 -
57 52.5
780 785 790 820 825 830

53

93.

52.

52.

51.

51.

54.

54.

53.

53.

52.

54.

53.

53.

52.

54

53

52

51 A

50 A

49 ~

48 -

M_Ww

T

T T
800 1000

m=580,m FV0=0

T
600

.94

—— MW

il

5é5 5é0
m=715,n FV0=0

—o— MW

7

7é0 755
m=855,n FV0=0

-— MW

it

855 860 865

53.

53.

52.

52.

51.

54.

54.

53.

53.

52.

54.

53.

53.

52.

m=465, FV0=0
—— MW
51 -
50 -
49
465 470 475
m=615,m FV0=0
—o— MW
5 -
0 -
5 -
0 -
5 -
615 620 625
m=745,m FV0=0
5
—— MW
0 -
5 -
0 -
5 -
745 750 755
m=885,m FV0=0
0- —o— MW
5 -
0 -
5 -

885 890 895




m=920, FV0=0
54.5 - MW
54.0 -
53.5 A
53. 0 -
52.5 A
T T T
920 925 930

m=935, FV0=0

—— MW
54.0 A
53.5 -
53. 0 -
T T T
955 960 965

m=990, FV0=0
—— MW
54.0
53.5
53.0
T T T
990 995 1000

m=1035, FV0=0
—— MW
54.0 -
53.5 -
53.0 A
T T T
1035 1040 1045




hour
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P3-13

BflE) | GEBRTK (B)) | ERE (EA/) | EREE(B/R) | XS SRR

07:50 300 150.0 2.888 B 1Rige07:50 Fzh (REEEE)
08:25 300 150.0 2. 888 BE| 1Ri%e08:25 Fzh (KL
09:00 300 150.0 2. 888 BE| 1Ri%e09:00 Fx (REEEE)
09:35 300 150.0 2.888 B 1Ri%e09:35 Fzh (REEESE)
10:10 300 150.0 2.888 S| 1Ri%@10:10 F3h (REEZRSE)
10:45 300 150.0 2. 888 BE| {Ri&@10:45 Fr (REEESE)
11:20 300 150.0 2.888 B 1Rige11:20 Fzh (REERESE)
12:00 300 150.0 2.888 S| Rige12:00 Fz (REAEHE)
12:45 300 150.0 2. 888 S| Rige12:45 Fr (REEESE)
13:20 300 150.0 2.888 el Rige13:20 Fz (REAEHE)
14:00 300 150.0 2.888 RS Rige14:00 Fz (REAEHE)
14:40 300 150.0 2. 888 BE| 1Ri%e14:40 Fzh GGRFEAERESE)
15:25 300 150.0 2.888 el Rige15:25 Fz (REAEHE)
16:05 300 150.0 2.888 BE| Rige16:05 Fz (REAEHE)
16:50 300 150.0 2. 888 BE| 1Ri%e16:50 F3zh (RF{ERE)
24t | 4500.0 (15%%) 2250.0 3 WH%EC: 2080.0, PH: 5.6

TERRHLER 2 STEIEARTF (184.0 :

ZRIAEBRERE139. 0 ml.

[E;%EC 6530.0 K5, EiFHAKECAE & hikER
FHERECE (1860. 0 vs 6530.0) 15

139.0), FIEEHT—@E XA HS




FRV (ml plant-1)

P3-13_0, Day=64 (2025-06-03)

150 Fm———=—F——————F——————F——————F-—————F——————F-—————F-—————F——————f-—————F-—————f——————] i
VI V%RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 3000

2100 2218

1997 616 1700 67289 2000
50 - 1000
40 ) .
Warning: lcol [FVI',| "FVO’'] missing 64
0 - -0

( o ) —— ME H3g

100 A

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

300

= % S - 2000

200

- 1000

1
Bylnit [0D66 01:59: ET=1723 Fg=1950.0 Ro=254.0 3000

:

1

1

1

1

100 - :
1

ET (ml/hr/plant)

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 | 20 | 21 22 23
200 % | % | | | | | | | m | m | m | m | m | m | m | m | m | m|m|m|m|m]®

T I
ByEt @D64 19:05: ET=2091 Fg=1676.0 Ro=naﬁ///\\\\ !

200 - — —~—y ®
100 . 1 11 [

P = —————
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
5 5 5 i 5 5 5 i 5 5 G A B 5 5 i B 5 G A 5 G A

D66 01:59: ET=1869 Fg=2250.0 Ro=f89/@\\\

3000

L
,——-r’/ﬂl// I
= £ 2
f5

—& 4 9 - 2000
® ® ®

- 1000

ET (ml/hr/plant)

300

B
ByWoF e o o
yiorv —& 4  J - 2000

200

/
A10111

100_ _1000

ET (ml/hr/plant)

W~ ——— g~

1 | 2 | 3| 4[5 [ 6 7 [ 8] 9 [10[ 11 [12]13] 141516 [ 17 | 18 [ 19 [ 20 [ 21 | 22 | 23
is [ B | m5 [ fE | o5 [ f5 | 5 [ A5 | 5 | h5 [ W5 [ A5 | 5 | M5 [ ”E | B [ ”E | W5 [ A5 | B5 [ A5 | B85 | 5

1.0 =%
[

0.8

0.6

0.4+

0.2~

0.0
2000 4

—_— 4
[ ] | _obs

1500 ~ —@— PPFD_obs

1000

500 ~

80 -

. M
[

—— RH

404 @ RH_obs

[ ) RHo_obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



T T
600 800

400
m=605,m FV0=0
——
36. 5
36. 0
35.5
T T T
605 610 615
m=780,m FV0=0
——
37.0 -
36. 5
36. 0
780 785 790
m=975,m FV0=0
37.50
37. 25 A
37.00 A
36. 75
36. 50
36. 25
975 980 985

m=440, FV0=0

34.5 -

34.0 -

33.5 4

33.0 A

32.5 A

440

T T
445 450

m=650,m FV0=0

37.0 A

36.5 -

36. 0

——

T T
655 660

m=830,m FV0=0

37.0 -

36. 5

36. 0

830

835 840

54 -

53 A

52 -

51

50

49 -

400

600 800

36.0

35.5 -

35.0

37.0 A

36. 5

36. 0

37.

37.

37.

36.

36.

36.

36.

m=485, FV0=0

T T
490 495

50 A

25 -

00 A

75

50 -

25 A

00 -

52

51 1

50 -

49

m=695,n FV0=0
760 765
m=875,n FV0=0
8é0 8é5
m=440,n FV0=0
4&5 450

m=530, FV0=0

36. 50 A

36. 25

36. 00

35. 75 A

35. 50

35. 25 A

—&— M_E

550 5%5 5é0
m=735,n FV0=0

37.0 -

36. 5 -

36. 0

735 7&0 7&5
m=930,n FV0=0

37.5 4

37.0 A

36. 5

36. 0

950 9é5 9&0
m=485,n FV0=0

53.5 A

53.0 A

52.5 -

52.0 -

51.5 -

51.0 -

-o— MW

485 490 495




52.

52.

51.

51.

50.

50.

53.

53.

52.

52.

51.

51.

53.

53.

52.

52.

51.

m=590, FV0=0

—0—

M_W

550

T T
555 560

m=735,m FV0=0

—— MW

735

T T
740 745

m=930,m FV0=0

—0—

M_W

930

935 940

51.

51.

50.

50.

49.

49.

53.

53.

52.

52.

51.

51.

54.

53.

53.

52.

52.

m=605, FV0=0

—0—

M_W

605

T T
610 615

m=780,m FV0=0

—o— MW

780

T T
785 790

m=975,m FV0=0

—— MW

975

980 985

52.

51.

51.

50.

50.

49.

53.

53.

52.

52.

51.

51.

m=650, FV0=0

—o—

M_W

650

6%5 6é0
m=830,n FV0=0

—0—

M_W

830

T
835 840

m=695, FV0=0

52.5 -

52.0 A

51.5 4

51.0 -

50. 5 A

50.0 A

—0—

M_w

T
695

T T
700 705

m=875,m FV0=0

54.0 4

53.5 A

53.0 A

52.5 4

52.0 A

51.5 4

—0—

M_W

T
875

880 885
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P3-13

FriE) | EBIATK (FD) | ERE (EH/4) | BEBREE (B/R) [XS R

08:00 288 150.0 2.888 BE| {RRi%@08:00 Fz (RFEAERHEE)
08:35 288 150.0 2. 888 BE| {Ri8e08:35 Fz (REAERHE)
09:10 288 150.0 2.888 RSl Ri&e09:10 Fz (REERHE)
09:45 288 150.0 2.888 BE| {Ri8009:45 Fz (REAEHE)
10:20 288 150.0 2. 888 e Ri8@10:20 Fzn (REAEHSE)
10:55 288 150.0 2.888 el {Ri&e10:55 Fz (REEHE)
11:30 288 150.0 2.888 el Rige11:30 Fz (REAEHE)
12:25 288 150.0 2. 888 B Rige12:25 Fzy (REEHE)
13:05 288 150.0 2.888 |Z=| {Ri&e13:05 Fzi (KEAEHE)
13:40 288 150.0 2.888 |Z=| 1BRig013:40 Fzh (KAEESE)
14:20 288 150.0 2.888 |Z=| {Rige14:20 Fz1 (KREEZHE)
15:05 288 150.0 2.888 |Z=| {Ri&e15:05 Fz (KEAEHE)
15:50 288 150.0 2.888 [Z=| 1Ri&e15:50 Fzh (REEEE)
16:40 288 150.0 2.888 |Z=| {Ri%e16:40 Fz1 (KREEZEHE)
21t 4032.0 (14)%) 2100.0 32#KEC: 2080.0, PH: 5.7

TERRHLER 2 STEIEART (195.0 :

ZRIAEBRIERL144.0 ml.

[B/REC 7567.0 K&, HEiUARECRE A IMIKER
HEEIHECE (1907.0 vs 7567.0) IS

144.0), FlEEHT—R % XA HS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

2000 < _ 4

P3-13_0, Day=63 (2025-06-02)

150 A

100 A

50

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

935 L

710 31 20

40 Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.7

Warning: lcol ['PHB’,| 'PHC’'] missing

300 -

200 -

100 A

ok o

Bylnit [@D66 01:59: ET=1504 Fg=1650.0 Ro=260.0

LTI

0 1 2 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

R

e

[
1
,
-
[
/

300 - i

200 A
/

100 A

ok o

M 2725 |2 |2 (2| 5 | B [BF | B5 | R | BF | 5 | RS | BE | f5 | RE | BE | fs [ HE | S | R [ A | HR

ByEt @D63 19:20: ET=1720 Fg=2002.0 Ro=né2///\\\ l e e e i

y’

—— a
2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

0

300 -

200 -

100 A

1.0 F—H

2|27\ |%| 5 | B | B5 | A5 | A5 | MR | R |ZR|SE|(ZE|$5| B | B ([ B (B [ B

D66 01:59: ET=1809 Fg=2100.0 Ro%jEQ/Q\\ A;: : : 3 i

AT

Wf
M
W
MI

A
ByWoFv

\ -

- —-—————g-

0sl B |B=|52 2718227 57| & | % | & | % | % | % 5222|5752 |5| % | % 5= & | @ | &
0.6

0.4+

0.2~

| _obs
PPFD_obs

7

2706 - 3000

- 2000

1000

3000

2000

1000

[ =]
o
o
o

2000

1000

[ =]
o
o
o

2000

1000

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



32 B T T T T T
600 700 800 900 1000
m=665,m FV0=0
—o— M_E
36. 5
36. 0
35.5
35.0
34.5 A
T T T
665 670 675
m=785,m FV0=0
38.5
—o— M_E
38.0
37.5
37.0
36. 5
36. 0
785 790 795
m=900,m FV0=0
—o— M_E
38.0
37.5
37.0
36. 5

905 910

33.

33.

32.

36.

36.

36.

36.

36.

38.

38.

38.

37.

37.

37.

37.

38.

38.

38.

38.

38.

37.

m=550, FV0=0
—— ME
5 .
0 .
5 .
550 5%5 560
m=670,m FV0=0
81 —o— M_E
6 .
4 .
2 .
0 .
650 655 séo
m=790,m FV0=0
49 —o— ME
2 .
0 .
8 .
6 .
4 .
2 .
790 795 800
m=910,m FV0=0
49 —o— ME
3 .
2 .
1 .
0 .
9 .

910 915 920

35.

34.

34.

33.

38.

37.

37.

36.

36.

35.

38.

37.

37.

36.

36.

38.

37.

37.

36.

m=580, FV0=0
—o— ME
0 -
5 -
0 -
5 -
5éo 5é5 550
m=725,m FV0=0
07 —o— M_E
5 -
0 -
5 -
0 -
5 -
755 750 755
m=845,m FV0=0
—o— ME
0 -
5 -
0 -
5 -
0 -
855 SéO 355
m=965,m FV0=0

—o— M_E

it
i

965 970 975

35.

35.

34.

34.

m=625, FV0=0

5 4

0_

5_

0_

M_E

650 655
m=730,n FV0=0

38. 00 A

37.75 A

37. 50 A

37. 25 A

37.00 A

36. 75 A

38.

38.

37.

37.

37.

37.

38.

38.

38.

38.

38.

37.

37.

—o— M_E

m

7é5 7&0
m=850,n FV0=0

2 4

0 -

—o— M_E

i

855 860
m=970,n FV0=0

850

4 4

3 4

2_

14

0 -

—o— M_E

970 975 980




46 -
T T T T T
600 700 800 900 1000
m=665,m FV0=0
81 o mw
52 4
51 4
50 4
T T T
665 670 675
m=785,m FV0=0
—— MW
54
53 4
52 4
51 4
785 790 795
m=900,m FV0=0
—— MW
54
53 4
52 4

900 905 910

m=550, FV0=0
—— MW
49
48
47 4
46
T T T
550 555 560
m=670,m FV0=0
53.0 — Wi
52.8
52.6 -
52.4
52.2
T T T
670 675 680
m=790,m FVO=0
54. 75 -
—— MW
54. 50
54. 25
54. 00
53. 75
53. 50
53. 25 -5 | |
790 795 800
m=910,m FV0=0
—— MW
54.8
54.6
54. 4
54.2
54.0
53.8

910 915 920

m=580, FV0=0
511 —8— MW
50
49
48 -
T T T
580 585 590
m=725,m FV0=0
—— MW
54
53
52
51 4
50
T T T
725 730 735
m=845,m FV0=0
—— MW
54
53
52
51 4
845 850 855
m=965,m FV0=0
54.51 —@— MW
54.0
53.5
53.0
52.5
52.0
965 970 975

m=625, FV0=0

—— MW
51 -
50 -
49 4
48 -
T T T
625 630 635
m=730,m FV0=0
—— MW
54.5
54.0
53.5 -
T T T
730 735 740
m=850,m FV0=0
54. 50 4 o= MW
54. 25 4
54. 00 -
53.75 -
53. 50 -
53. 25 1. | |
850 855 860
m=970,m FV0=0
54.6 R
54. 4
54.2
54.0
53.8 4

970 975 980




hour

105 -

:00

:05

:55

145

:35

125

:00 -

100




P3-13

ByiE) | GEBEATE (FD) | ERE (BHA/) | EBREE(B/R) | XS EFE

10:00 288 150.0 2.888 |Z=| {Ri%e10:00 Bzl (KEAEHE)
12:05 288 150.0 2.888 FA| {Ri&e12:05 Bzl (GkAEREE)
12:55 288 150.0 2.888 FA| {Ri&e@12:55 Bz (RAEEE)
13:45 288 150.0 2. 888 FE| 1BRi%@13:45 Bz (kBERSE)
14:35 288 150.0 2.888 FH| 1Bi&e14:35 Bzh (RAEREE)
15:25 288 150.0 2.888 FH| 1Ri%@15:25 Bzh (RAERRSE)
24t 1728.0 (6%) 900. 0 3ESHKEC: 2080.0, PH: 5.8

TERRHLER 2 STEEART (187.0 :

ZRIAEBRERLE138.0 ml.

[El&%EC 8683.0 K5, #iYF{KECAE&HikER
I [ERECE (2007. 0 vs 8683.0) 145

138.0), FAlEEHT—@ L XA S




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-13_0, Day=62 (2025-06-01)

LR S e i it S
VI, VO*¥RV, ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET L 1500
1100
100
03 935 | 1000
710 69676
50 A 60 - 500

Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing

0.0 , 3000
Bylnit @D66 01:59: ET=1668 Fg=1950. 0 Ro=445.0

400 + L 2000

200 - 1000

—————————s-

p—o —p 0O
Tt T T T T s T s T T T s 1o [T T2l al B 6T 7 T 85T % 32T F %00
| BH [A [55] 3] [A [A A 3] [A 3] A 3] [A [55] A [55] [A [A A 3] [A [A A

1
400 1 ByEt @D62 19:06: ET=764 Fg=690. 0 Ro=nan : L 2000
|
200 - —&—&—®—® 1000
anananans - Sens (SN == SR SR IR AN
b o - e e o
0 P a o \\\\\‘—*__*““*1*‘~7 9
0 | 1 | 2 | 3| 4 | 5 6] 7 8 9 [10] 11 [12] 13 14] 1516 ] 17 ] 18 ] 19 | 20 | 21 | 22 | 23 | 3000
N[ BB [ BB | Km|m| ZE|E[(EZE[(ZF|Z=|1Z=| B | B [B | B | B | B |B[B[H|[H|ZE|Z25][%5
1
400 14— ByWoFyv pDGG 01:59: ET=676 Fg=900.0 Ro=102.0 L 2000
|
200 | —$— 888§ 1000
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